_ 2= =2 O f
N ﬁ BFEs571—R 8%
RKe4|E320 BARISTAI—IAYvH—EFEU-15) XEBEBEAE _ . gL 100 A
o2 |[FRAFEEACL ESTINE = B
HeEs [ 2017 & 6H 3H 1320 KoO. 3 & BE ] 705 EvFiREE

TE A FiE ?IJ% g EE %ﬁ_40)$¥u 2 SHEERIF
2782 AR s iR E A& _BHBA RE | EERIF
F—L0 s BTk 0 (F—142)
mEY>HF.C.U-15 9 5 Caa 0 0 FEaIVR—ILIST
Kick off i Rl
I EKick off EREY I EKick off
PK &k
X 21—k = - MESIEE KRG . = a—k X
No. iouTesra |l o[ mpisnel 5T [ & 2T BE|F||B|E& EFH m | BT fanisiman melouTesn No.
IR KEER [GKlo1|[15]GK] FA FF
WA K% |DF[o02||o04|DF| g BAK 64
1112 L5 [ DF(o6||25|DF| WH =
e Yt DF|[ 23] 07|MF E X3
63 wE K2 |[DF|25[[08|MF| #F Lt 3Lt
21 2|1 s BE O |[MF[oa[[10|[MF] EBE BE 1 1
64 IRt KB |MF|11]]|22|MF| #F ZE4 68
=W %E [MF[20]] 24[MF] HE HA 49
67 3 51 8] 4 B & Fw[o9 || 02 [Fw Z TH
51 1121 INT B Fwl1o0[[17[FwWw] XF BER 1 i1 HT
47 1 112 BE FmoB [Fw[22[[26[FW] BEH EX
ZH #E |GK[16]] 01 [GK] #i Eil
04 A = DF[05[[30]|GK| fE ZE—
09 WA Zal [MF[12]] 03[ MF BE &
b4t &KX |DF[13||05[FW| FH EX 22
RHE EZE |MF[14]]11|Frw] WL A 24
g =¥ [MF[17]] 13| DF FiE N 17
11 1 1 Bl A FW|18[[ 16 |[MF| kB [ERK
22 h® #AER [MF]26][ 18| MF| it 15
10 1 1 W& 5 FW[27]| 20[Fw| wER @ 04
Z24&-R5 R [ 1Al F LA Al | ER Z24& R
g2 EFL| BB [ ZB | BER (2| F 1 F = FiF|aig|==|EFR| B [ Z-E | EAH
gi1o[18]a—F[ 2] 11 1
210 2] Gk [17]121 5
216[8] cK JoJoio
111 ]2 |EEFK[ 7611
0! 1|1 |[MEEFK] 1011
0iofofaoysm] 1]01i1
0iofo PK [0]01i{0
[Z2EEAR] C: RATKR—YIIITA. C2257F L1, C3: BiE. C41BEYIRLMDER., C5EIEITA. C6: JFEERE. CTEFI A, CEHAIE
LRIBIEMA] S1:ELFRELGT LA, S2EBLHITA.S3IDIEMLE, S4: BEHEHIE (F)., SEEAMEHIE(). S6:{EE. CS:Z&2m
R R F—L% g2 BaFRKEL [Hl:~FUYJ/IL, 300/ R, | ZEKRD/NR, XE#, Sa—F HATAVY
14 | m#EH > HF.C.U-15] 09 HEf 5 11—9S
19 | m=#YHF.CU-15] 09 BE %  [20—9S
22 |m#HYHF.C.U-15[ 06 L5 10—6S
34 |mEBYAFCU-15[04] A E”%rs 11 1 4HS
41 | mH Y HF.C.U-15[ 09 HE 5 ~9S
45 |mERY > HF.C.U-15[ 09 HE %  [20—9S
46 |m=#EYHF.CU-15] 10 NI B 11—10S
65 |m&RHYHF.C.U-15] 18 Bl B ~18S
68 |m#RH > AHF.C.U-15] 23 Ig Hed@ |22 1 23HS
PKEL D #% 18 1 2 3 4 6 7 8 9 10 11 12 13
PKEX DI BD A 10BDZFMNARIILI-EET10 O, 10BDZBFEMNEKRLIZEEZT10 x|,
EEBEE A EBE A
BEEFEF—L) E BEEFEHEF—L) =
(HHFEF—L) & (HFF—L) E




